=47

A7 A VR (GXTE) B3
T HF 4 : & LRARKEMEE TF
MR 4 AR DCIP ¢ 150mm L= 69.6 m
L F FRAE e | HAL| MR B AERERE | HAL fii =
BE SEE RN Ry R 13 K 5.000 | m 65.000 m
BE F )& 2.000  m 2.000  m P
7 )% 1 & 1.500 | m 1,500 | m BTV E T E
BE AR 14 K B IR 68.500 m
— ST  150+100 1 T | 0.480 nm 0.430 m
FRTFE & 150%75 & 0.450 | m m 10K
Fr dhis ¢ 150%90° 1A 0.568  m m
& 150%45° & 0.464 | m m
® 150%22° 1/2 1A 0.409 m m
6 150%11° 1/4 & 0.370 | m m
® 150%5° 5/8 1A 0.370  m m
5 Hh ® 150%45° #l 0.194 | m m
é 150%22° 1/2 1A 0.139  m m
N LR & 150%100 ] 0.410 | m m
L2 %E ¢ 150%100 [ 0.420  m m
(2 5k ¢ 150 ] 0.020  m m
LT ¢ 150 H300 [ 0.937  m m
¢ 150 H450 B 1.109 | m m
i AR 1 7| BEEIEE 0.480 m
AT é 150 R 0.240  m 0.240 | m |yl-TiE
S0 F MU S 25T 9 f& 0.039 | m 0.351  m [(A-Y)~HiE
P-Link ¢ 150 HL 0.210  m m
7 (GX) ¢ 150 K Wb - Fyb - 2 MRE T 1| #
G-Link ¢ 150 2] A
A F =H Vg (K) é 150 1 A
[k (bR (K) ¢ 150 1 #
A F =H Vg (K) ¢ 200 20 &
[Rldhe (bR (K) ¢ 200 1 #
[l (K) ¢ 200 1
e A a4 H 0.550  m m
ETTE (K) ¢ 150 &
Rk S L7 (K) 6 150 1 fA St T #73A A
{18 77 3% M2 ¢ 350 H 7004 1 A
ZERIP %35 ¢ 500 H 700 HH
EH/?T v 5 50mm 69.6 m
ISR SRR — b IE400mm 69.6 m
%}%llv—w— 1 {#
DA G 22| » AT | FOMILE 0.591  m
it TAE R 69.571 m
AR k& HEES e A S
Figk T B AR E A 68.5 + 0.48 69 m
I T GIWr TV B — fikE 2 BT | B 2 o
TV h v X — BERE 2 T [BEERBEIESE ¢ 200
GXifftF T [EKER5H 13 + 1 14 » Fr
EEE P-Link Vbl
S 1 7 Fr
FILEH G-Link 2 s P
A=AV FEL  (K) ¢ 150 1] » BT |k e
A=AV FT | (K) ¢ 200 2 7 T | sk
A=AV FL  (K) ¢ 150 1 4 Fr Bk L
7-7‘/%%$I 10K ¢ 75 2 I
e i Zazi]
/Wﬂfgi ® 25 BT
FIT a1 (K) ¢ 150 A
BN VT BT ¢ 150 1 7 BT [ CEE R
KEHRE L HIE25 ¢ 350 H 700/H i
372 ¢ 500 H 7004 P
BERRE i T i B HEA m
AUy 7 EE BEE E ¢ 150 1
Br=74/)" A Y% E T 69.6 m
EHRT—7 T W=50mm 69.6 m
TR — ML W=400mm 69.6| m
HKYVZF LAY —THHET 69.6 m
@I _ 0.5 H
B
7J<nit%ﬁ1 Fo K AN 0.14] H [69.571/500
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X B2 AV (GXIE) FE13
T & 4 : & -LRAERKEMGE TS
B 4 BISER DCIP ¢ 100mm L= 177.7 m
i JRAS B HAL| R BN AR HEAL i =
EX SIS —R¥ o BIRRmIRERLE 431 K 4.000  m 172.000 m
o e 2.000 m 2.000 m et =
s VA1 5000 m 5000w |PVEREVERE
EHE ARk 4 K [EREGISE 176.000 m
— AT ® 100%75 1 0.440 | m 0.440 m
T (K) $ 100%100 I 0.710  m m
FARITF S 6 100%75 ] 0.440 @ m m
Fr sz gh i $ 100%90° I 0.479  m m
& 100%45° ] 0.416 @ m m
b 100%22° 1/2 I 0.380  m m
6 100%11° 1/4 ] 0.360  m m
6 100%5° 5/8 I 0.360  m m
i 7 4% & 100%45° ] 0.156 @ m m
b 100%22° 1/2 I 0.120  m m
R AR X3 & 100%75 ] 0.410 @ m m
Lz %E ® 100%75 I 0.410  m m
A5k ® 100 ] 0.020  m m
LR ¢ 100 H300 ] 0.866 m m
6 100 H450 [ 1.037 | m m
B SO Et 1 »ir| BEEIEE 0.440 m
[ $ 100 J[E 0.200  m m |y1-Fi%&
ik i (K) ¢ 100 1A 0.300 m m
DCIP (K) ¢ 100 /N 0.500  m m
EEELAEGiL T ¢ 100 (K) ]
47 SHLUHAI LG 8 f& 0.029  m 0.232  m [(A-Y)~HE
P-Link ® 100 4H 0.180 m m
Pt (GX) ¢ 100 & Wb - Fob - 3 MRE T 3 #
G-Link ® 100 1 %
=8 AN % AP 2 K 0.490  m 0.980 m
V7 M-l sz I% 0. 180 m m
TERI o 25 (BUREES 1-4477) H
8% - Z2RFEW 25 ¢ 3560 H 7004 2 A
A ] = F)VIE (GX) ¢ 100 ]
(K) ¢ 100 11
BHRT—7 i 50mm 177.7 m
W RORY — b IE400mm 177.7) m
ik~ —H— 1 1/ 5 Iz
Z DOMEE 16 »ff| FOMIEE 1.212 | m
e TIE & 177.652 m
EX D T B st R | HAL i =
gk 1 R N 176 + 0. 44 176.4 m
kT i TV A — HiRE 1 2 Pir [BIARED A 3 3E
TNy S B v It
GXifftF T [ 43 + 1 44 P
[ELE ¥ P-Link Vil
SR 3 »AT
B G-Link 1 »Fr
AH=TARFET  (K) ¢ 100 2 FIT | R R A i
75 U ORET Vabbii
Y]k iE T 2 7Pt
FEHxE T ME2%5 ¢ 350 H 7008 2 7T
BER LT B HRA m
AUy 7HE YEE E ¢ 100 1 =X
=540 IAY-a% i L 177.7| m
BWHRT—7 L W=50mm 177.7 m
BRRY— ML W=400mm 177.7 m
R ZF LAY —THBT 177.7) m
kBT 0.5 [
Hom %
AR ER T F5 7K BN 0.36] H [177.652/500
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X7 2 A NI (GXHE) B3
T F 4 : & LRAEB/KEMBE LFE
B Bt 4 BESHRINTE KARRLE DCIP ¢ 75mm 1= 3.2 m
Zin JRAS $em | HAL| EE O HL| AREE | HAL i =
B SRS TR RS KR A 4.000 | m m
@J%vs EFI@J% m m ¢ pts =
9% 1 & 3.200  m 3000 o |VVHOIE il
BHE G 1] K HEIE R 3.200 | m
e  15%75 W | 0.440 | m n
FRITF S & 75%75 A 0.440 @ m m
A ths ¢ 75%90° ] 0. 450 m m
¢ 75%45° ] 0. 397 m m
¢ T5%22° 1/2 1A 0.360 | m m
¢ 75%11° 1/4 ] 0. 340 m m
¢ 75%5° 5/8 ] 0. 340 m m
i 7 i ¢ 75%45° ] 0.137 m m
b T5%22° 1/2 1A 0.100 | m m
ZHE LA RE & 100%75 A 0.410 | m m
Lz s 6 100%75 A 0.410 | m m
= me 675 ] 0.020  m m
1 ® 75 1 & 0.080 | m m
LTE 6 75 H300 A 0.832 | m m
$ 75 H450 [ 1.007 | m m
ih s At 1 7| BEEEE m
E T ® 75 & 0.190 | m m |yls]yE
T4 F SHLAIZLAE & 0.029 | m m | (A-Y) ~FE
P-Link ® 75 A 0.180 | m m
i (GX) @75 K Wb+ Fyb - 2 MEmE T 1
G-Link ® 75 1 %1
-85 VTNV L J 0.490 | m m
VA LG i 0.180 m m
22K TP o 25 (BAEES (R547°) p-e
817 - 2R FFRM | FFE3E ¢ 500 H 9004 #H
7779 5 & i LSP 10K 1
e #h = 1 A
T p-e
AR FRE M35 ¢ 500 H 700 A
eI ¢ 75%H100 ]
A =J g (GX) ¢ 75 ]
(K) ¢ 75 Hrkfim it &
EHRT—7 i 50mm 3.2 m
AR T — N IE400mm 3.2 m
iR~ —h — JIE|
Z DA FAT| EOMERE m
Jiti T 3EF 3.200 m
LR JHAE SHE D MEIER | HAL i =
At T B SRR 3.2+ 0 3.2 m
B T Bl TV B — fiaRE 1 2 T | BIARED S 3 35
GXifftF T [EXERY +0 Yl
B P-Link 7 BT
HIPEE 1 777
BIPEE G-Link 1
AA=JINVHHEFT [ (K) ¢ 75 2 JF
75 VHEET Vit
) FpEkE T Yl
THAk AR E T Hh = 1 # At
MR ET #h = 1 » At
BRI E L 625 Vil
KHBEET FE3% ¢ 500 H 7005 vaili
BERRE LT B R A m
KUy 7 EE BEEE 75 =
wr=747)" IAY-ER I L 3.2 m
EHRT—7 L W=50mm 3.2 m
BHRY— ML W=400mm 3.2 m
BV EZF LAY —T BT 3.2 _m
Hom ek
i K ERER T i /K HE Y B A [3.2/1000
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BlKARY = F L& EF IR £EL3
TH4 - BELAAEKEMNRLE ﬂ:_/i *D
B # o BERBRN HPPE ¢ 100 = 25.9 m
x5 £ TR ~HE PoE | BAZ | ER O BAL | ERIER HAAL -
I EXES EF A% 4 K 5.00 m 20.00 m
2|1UI0E H 1 K 2.00 m 2.00 m |BUAHIERE
3TV Z TS 2.00 m 2.00  m |pUEDIERE
HE af HEES 24.00  m
4|EF 77 v ¢ 100 /N 0.18| m m
5|EF A5 S~ R(H450)| ¢ 100 A .12 m m
6|EF 5% S~X R (H450)| ¢ 100 N 1.01 m m
T[EF 52 ~F $100(45° ) 1 AR 0.49  m 0.49  m
9|EF iz~ $100(11 1/4° ) 1 AR 0.40  m 0.40  m
10[EF M5z~ $100(45° ) N 0.38 m m
12|PEFR O P TR4% ¢ 100 %N 0.93 m m
13|EFfi&F—2" $ 100%100 1 K 0.14 | m 0.14 m
14 /N m m
15 VN m m
Hh B 25 E ] 1.03 m
16]EF | ® 100 2 m m
17| A=Ay 7° (HPPE) | 6 100 2 A& m m |BEERPE 1L
18 A=hnF vy 7° (K) ¢ 200 1 m m
19|PES 11 4y 7 b=t %r | ¢ 100 S 0.86 m 0.86  m
20|PCTaA R é 100 1 A m m
22|81 (HF275) | ¢ 350 HT00H 1 #i m m
23 $ 350 H1200H HH m m
25| Al s 1E i (K) ¢ 200 11 m m
26 | IElgh g (K) ¢ 200 ] m m
27 [HER B A R — fE400mm 25.9 m m m
28|~ —7 W=50mm 259 m m m
29|Fk R~ —T1— 3 @& m m
30 m m
ZOMEE 0.86_ _m
Jifi T3 = 25.80 m
&5 EX FE HE TEIER | HAAL (i
SRV F L UM L|EE &t 24.0  + 1.03 m 25 m
32| W T (Fri % HPPE ¢ 100 AW
33|l T (BERX HPPE ¢ 100 4
4|RE S T 111 ¢ 100 7 7P
35|AE S L 2174 ¢ 100 3 AT
36| Al = A /VHEF T ¢ 100 (K) L 2P |k i
37| A =H )V AHkFT ¢ 100 (HPPE) 3 AT
38BNk i T 6 100 (HPPE) s
39|F MR E L (H25) | 350 H700H 1 #fr
40 $ 350 H1200H T
41
49 =4 A —RE L 25.9 m
BIEHRT—7 T W=50mm 25.9 m
44| E R —R L W=400mm 259 m
45|V 7B 1 K
46| K AR T 0.5 H
Pl
K ERBR 1 |76 /K B A B I | 0.05_H [25.9/500
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£

il

B R ERKEAARE T (No, )
¢ 150,100
<im_prU> 5 Y O
+ T
AsbliEr
t=15cmPl F |[PRBIRKTE S T TAEFHR 12 1110 1110.0 1110|m
AsEiEERRBUEL
t=10cmPL T |SHURETE B - TAEGHR 1 B IR 497 .4 497 4 497|m2
AsHLiEK
SRR MF I L TR IS 181 18.1 18|m3
T H
BHO0.28 ARSI - TAEFFR IS 148.8 148.8 150|m3
R (7b)
BHO0.28 KRR MF I - T4 R 1 5 68.2 68.2 68|m3
WERGEAT)
BHO0.28 KRR MF I L T4 R 151 25.3 25.3 25|m3
T3 A (RC-40)
KRRE B L TAEHE I S 164.4 164.4 164|m2
)@ AR (M-25)
KRRE B L TAEHE I S 164.4 164.4 164|m2
3 A (RC-40)
SOHRTE IR L TAEFR IS H 2.1 2.1 2|m2
S Ya st w Ui
SRR B T TR R 1 B ] 120.6 120.6 121|m3
e
SRR B T TAEEHR 1 B ] 120.6 120.6 121|m3
AsEiE T({RIE 1)
PR As13 t=3em| SBIAR 787 K 1 TAREIR | 2 IR 164.4 164.4 164|m2
ANEHE I
AT IEL  [RBUMCTE IS - TGN B 333 333.0 333|m2
AsEiE TORIEIH)
Fik s EAs20F =sem| SR BIHE B B+ TAERTF | B 328.8 328.8 329|m2
AsEiE TORIEIH)
AR EAs13 =3em| S BIHR B S L TAERTFR 1SR 4.2 4.2 4[m2
AR
SRR TE I - TAEF RIS 42.5 42.5 43|t
RiEFHEER |TEHERE) 04K 3TH  * 2 A 74 1PN




B RARKE MRS LHF L)
B LT ERE
THE 5 Sl HE Aat | HAL
e 1 W4 WIS W6

AsHI t=15cmPA T 280.0 712.0 14.0 104.0{  1110.0|m
AsEREERRIUEL  |t=10ecmPL T 126.0 320.4 4.2 46.8 497.4|m2
As S 4.6 11.7 0.1 1.7 18.1|m3
e BHO.28 39.1 94.0 1.8 13.9 148.8|m3
BB (Fi) BH0.28 18.2 42.8 0.8 6.4 68.2|m3
HREGEET) BHO.28 6.3 16.0 0.7 2.3 25.3|m3
TE A (RC-40) [t=200mm 42.0 106.8 - 15.6 164.4{m2
R (M-25)  [t=100(120) mm 42.0 106.8 - 15.6 164.4|m2

o kB A% (RC-40) [t=150mm - - 2.1 - 2.1|m2
FEA HALER 32.1 76.2 1.0 11.3 120.6|m3
P Hh 32.1 76.2 1.0 11.3 120.6|m3
AsEEE T(RIE1R) | FHEBKIEASL3 t=3cm 42.0 106.8 - 15.6 164.4|m2
N eing AL 84.0 213.6 4.2 31.2 333.0|m2
Astidi TORMEIR) |FFARPRIEEAS20F t=5cm 84.0 213.6 - 31.2 328.8|m2
AstilidE TORIEIR) | FFERPRLEEASL3 t=3cm - - 4.2 - 4.2|m2
MASTRALSY 2 10.8 27.5 0.2 4.0 42.5(t




B REEKEMRE LF =)
AN
DCIP(GX) (No, )
¢ 150 i1 1 L= 70.0 m
(ﬂf_FNO’Ef”) # Ff Wi
+ T
AsHlir
t=15cmLL K |70%4 280.0 m
AsEEERRITUEL
t=10cmPL F M8 IH (0.6%70) + BEG% (1.2%70) 126.0 m2
AsHiLiERK
A8 10 (0.6%70%0.03) + BER% (1.2%70%0.04) 4.6 m3
I
BHO0.28 0.6%0.93%70 39.1 m3
PR (W)
BHO0.28 (0.6%0.47 — 0.17°2%3.14/4) * 70 18.2 m3
HRGEA 1)
BHO0.28 0.6%0.15%70 6.3 m3
T & A (RC-40)
=200 0.6%70 42.0 m2
g AR (M-25)
t=100(120)  [0.6%70 42.0 m2
AR
39.1-(6.3/0.9) 32.1 m3
HEHh
39.1-(6.3/0.9) 32.1 m3
AsBHEE T{RIEIR)
B AR As13 t=3cm|0.6% 70 42.0 m2
ApEdEIE
LA L 1.2%70 84.0 m2
AsBEE TR IR)
FRAEBRLE As20F t=5cm| 1.2%70 84.0 m2
AsBRAL
4.6%2.35 10.8 t




B REEKEMRE LF =)
AN
DCIP(GX) (No, )
¢ 100 1 iAi4 L= 178.0 m
(ﬂ;E_FNfJ) 5 B Wi
+ T
AstIIKr
t=15cmlL N |178%4 712.0 m
AsEliZERRTUEL
t=10cmPL F 1545 1H (0.6%178) + BE% (1.2%178) 320.4 m2
AsHiLiERK
A5 10 (0.6%178%0.03) + BEF% (1.2%178%0.04) 11.7 m3
I
BHO0.28 0.6%0.88%178 94.0 m3
R (1Y)
BHO0.28 (0.6%0.42 - 0.1272%3.14/4) * 178 42.8 m3
HRGEA 1)
BHO0.28 0.6%0.15%178 16.0 m3
T & #A(RC-40)
=200 0.6%178 106.8 m2
k- JeE B (M-25)
t=100(120) [0.6%178 106.8 m2
B4 L
94-(16/0.9) 76.2 m3
HHh
94-(16/0.9) 76.2 m3
AsHliZE T.URIE IR)
R AR BRI AST3 t=3em|0.6%178 106.8 m2
e
ElER L 1.2%178 213.6 m2
AsHliZE T.OR1ER)
PR RIEEAS20F t=5em| 1.2%178 213.6 m2
SAsHRALS B
11.7%2.35 27.5 t




B REEKEMRE LF =)
AN
DCIP(GX) (No, )
675 ¥ A5 L= 3.5 m
f_mf”) # Ff Wi
+ T
AsHlir
t=15cmlL T [3.5%4 14.0 m
AsEliZERRTUEL
t=10cmPL T |BER% (1.2%3.5) 4.2 m2
AsHiLiERK
BER% (1.2%3.5%0.03) 0.1 m3
el
BHO0.28 0.6%0.85%3.5 1.8 m3
R (1Y)
BHO0.28 (0.6%0.39 - 0.0972%3.14/4) * 3.5 0.8 m3
HRGEA 1)
BHO0.28 0.6%0.32%3.5 0.7 m3
T & A (RC-40)
=200 - - m2
)& A (RC-40)
t=150 0.6%3.5 2.1 m2
A AR
1.8-(0.7/0.9) 1.0 m3
HEHh
1.8-(0.7/0.9) 1.0 m3
AsBHEE T{RIEIR)
FREHERIEEAST3 t=3cm|— B m2
ApEdEIE
SR L 1.2%3.5 4.2 m2
AsBEE TR IR)
FEMBIEEASTS t=3cm| 1.2%3.5 4.2 m2
AsBRAL
0.1%2.35 0.2 t




B REEKEMRE LF =)
AN
HPPE (No, )
¢ 100 176 L= 26.0 m
(ﬂf_FNO’Ef”) # Ff Wi
+ T
AsHlir
t=15cmLL T |26%4 104.0 m
AsEEERRITUEL
t=10cmPL F |18 IH (0.6%26) + BEGY (1.2%26) 46.8 m2
AsHiLiERK
A5 10 (0.6%26%0.03) + BERY (1.2%26%0.04) 1.7 m3
I
BHO0.28 0.6%0.89%26 13.9 m3
PR (W)
BHO0.28 (0.6%0.43 — 0.1372%3.14/4) * 26 6.4 m3
HRGEA 1)
BHO0.28 0.6%0.15%26 2.3 m3
T & A (RC-40)
=200 0.6%26 15.6 m2
g AR (M-25)
t=100(120)  [0.6%26 15.6 m2
AR
13.9-(2.3/0.9) 11.3 m3
HEHh
13.9-(2.3/0.9) 11.3 m3
AsBHEE T{RIEIR)
BRI As13 t=3cm|0.6%26 15.6 m2
ApEdEIE
LA L 1.2%26 31.2 m2
AsBEE TR IR)
FEAEBRLE As20F t=5cm| 1.2%26 31.2 m2
AsBRAL
1.7%2.35 4.0 t




B R ARUKEA R T

KR 13
N = N2z
BB THRERE S
Hkk
i Bk XA e o ) 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 |HER| 4 &
620 $620] $620 $20 $20| $20| $20| 20| 20 $20 H20 20| 20| 620 $20| $20| $20| $20| $620| $20| $620 50 ¢30
613 613 613 ¢13 - | ¢13| ¢13] ¢13] ¢13] ¢ 13| ¢ 13| ¢13 - | &13 613 6 13| 13| ¢ 13| 13| 13| - - -
ZREL FRADAE | 9100 X 20 [ {# 18 i i 1 1 i i 1 1 i i 1 1 i i 1 1 i i
e ” $» 100 X 25 "
% n 6100 X 30 " 1 1
6150 X 20 | 3 1 1 1
” ¢ 150 X 25 n
AENA)—T | ¢ 20 " 21 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
n 25 n
n ¢ 30 i 1 1
A PEP 613 m
[ 620 n 1 123.7] 6.9] 6.9] 7.2] 6.9] 52 69 52 69 52 69 52 69 52 69 52/ 69/ 52/ 69 3.6/ 53] 22
n 25 n
" ¢ 30 " 4.3 4.3
n ¢ 40 n
" ¢ 50 " 9.0 9.0
HIVP 613 A on/ RCRHASE)
[ ¢ 16 " 2.3| 0.13] 0.13] 0.13] 0.13 0.13] 0.13] 0.13] 0.13] 0.13] 0.13] 0.13 0.13] 0.13] 0.13] 0.13] 0.13] 0.13] 0.13 "
n ¢ 20 n N
PE#kF A—4—H $13 ]
[ 620 [ 39 2 2 2 2 1 2 2 2 2 2 2 2 1 2 2 2 2 2 2 2 1
n b 25 I
n ¢ 30 n 1 1
n b 40 I
n ¢ 50 n
vk ¢ 20 " 2 1 1
n ¢ 25 n
n ¢ 30 I
n ¢ 40 n
n ¢ 50 I
TIAVaAf | ¢20 " 1 1
650
B ok $20 X 13 I
n $25 X 20 /
” $50 X 25 n
LR ¢ 20 "
n ¢ 30 n 1 1
n ¢ 50 i 1 1
TURF Yy | 620 " 2 1 !
n ¢ 30
SIS CFA) | 020 I 4 2 2
[alfiEA R $ 30 " 2 2
n ¢ 50 " 3 3
TSHETF HIY 2 $13 [E
[ 616 [ 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
n ¢ 20 I 1 1
n 25 n
n ¢ 30 I
n ¢ 50 n
HIEEY ok | 016 X 13 | 0 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
HIF vy~ 616 "
[ ¢ 20 " 19 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
n ¢ 30
n ¢ 50 I 1 1
SKXikT  [SKX(PP*VP) 625 [
n ¢ 50 i 1 1
SSVT KRR |re s ek tteig | ¢ 30 1A 1 1
n b 40 I
n ¢ 50 n 1 1
MR- 7| ¢ 20 " 2 1 1
n 25 n
A=H—1EK ¢ 20 "
[ 620 X 13 | » 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
J $25 X 20 /
HARF vk $13 [ 18 i i 1 1 i 1 1 i i 1 1 1 1 1 1 1 1 1
¢ 20 /]
$30 "
TUHLT AT 613 X 500 [ f# 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
620 X 500 | » 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
$25 X 500 [
E3 Mg A—%—H| 6 13-20 [ 3 1 1 1
ANHA—Z— [ 13-20 " 15 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1K Y 7 X |VOs [ 4 1 1 1 1
I 23 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
e —k |[W=400 m | 995 5.2/ 5.2 3.5 5.2] 35 52 3.5 52 3.5 52| 35| 52| 35 52 3.5 5.2[ 3.5 52] 1.9 3.6/ 1.5 9.0/ 3.5
E T —7[W=50 m | 995] 5.2 52 35 52] 35 52 35 52 35 52[ 35| 52] 3.5/ 52 3.5 5.2[ 3.5] 5.2[ 1.9 3.6 1.5 9.0/ 3.5
Hkk
| A 5 6 7 8 9 10 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | HEE
T L e HHZ| Bt 620 $620] $620| $20 $20| $20| $20| 20| 20 $20 H20 20| 20| 620 $20| $20| $20| $20| $620| $20| $20 $50 ¢ 30 i %
613 613 613 ¢13 - | ¢13| ¢13] 613| ¢13] ¢ 13| ¢ 13| ¢13 - | &13 613 6 13| 13| ¢ 13| 13| 13| - - -
5 | KESA T |BiekiE A $100 X 20 [ fT 18 i i 1 1 i i 1 1 i i 1 1 i i 1 1 i i
b " $100 X 25 [
% n 6100 X 30 " 1 1
[ 6150 X 20 | 3 1 1 1
/ ¢ 150 X 25 I
Ever a7 ¢ 20 i 21 i 1 1 1 1 1 1 1 1 1 1 1 1 i 1 1 1 1 1 1 1
n 25 n
" ¢ 30 " 1 1
ik L |PEP 613 m
[ 620 n 1 123.7] 6.9] 6.9] 7.2] 6.9] 52 69 52 69 52 69 52 69 52 69 52/ 69/ 52/ 6.9 3.6/ 53] 22
n ¢ 25 n
" ¢ 30 " 4.3 4.3
n ¢ 40 n
" ¢ 50 " 9.0 9.0
HIVP 613 [
[ 016 " 9.0 0.5/ 0.5 0.5 0.5 0.5/ 0.5/ 0.5/ 0.5 0.5 05 05 0.5/ 0.5/ 0.5/ 0.5 0.5 05 05
n ¢ 20 n
n b 25 i
[TENR PEfkT 613 5]
[ ¢ 20 " 50 2 2 2 2 4 2 2 2 2 2 2 2 6 2 2 2 2 2 2 2 4
n ¢ 25 n
” ¢ 30 " 5 5
n ¢ 40 n
” ¢ 50 " 5 5
TSHkET 013 Paiis 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
[ 016 " 54 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
[ 620 [ 21 1 1 1 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1
n b 25 I
n ¢ 30 n
n b 40 i
n ¢ 50 n 1 1
kT T $13 " 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
[ 620 [ 36 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
n b 25 I
n ¢ 30 n
n b 40 I
n ¢ 50 n 3 3
IR T | SV 7 R 620 T 2 1 1
625 "
¢ 30 " 1 1
650 [ 1 1
FRPERE L | R |VOS it 4 i 1 1 1
FfiE T [VOS I
R B T 613 Paiis 18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
620 "
625 "
+TE - TriA L m [ 135] 15 15 1.5 15 15 1.5 L5 1.5 1.5
|- Tl 2 m [ 99.5| 52 52/ 35| 52| 35 52/ 35 52/ 3.5/ 52[ 35/ 52[ 35 52 35 52 35 52 1.9 36 1.5 90 35
+ T3 m | 12.0 3.00 1.5 1.5] 1.5] 1.5 1.5 1.5
| T4 m 6.0 1.5 15 15 1.5
m
W=7 40 A~ m 137] 6.9] 6.9 7.2[ 6.9 52 69 52 69 52 69 52 69 52] 69 52] 69 52 6.9] 3.6 53] 2.2 9.0/ 43[M Tk
iRy —h [W=400 m | 99.5] 5.2/ 5.2] 3.5] 5.2 3.5] 5.2] 3.5/ 5.2 35 52 35 52 35 52 35 52 35 52 19 3.6/ 15 9.0 35
E T —7[W=50 m | 99.5] 5.2] 5.2[ 3.5[ 5.2[ 3.5] 5.2[ 35 52 35 5.2 35 52 35 52 35 52[ 35 52[ 19] 36/ 15 9.0 35
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FKEEIET (No, )
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(”'f_FN f”) 5 A | %o | ek
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AsYHr
t=15cmPA T |PRBURLT £ TRz ISR 410.0 410|m
AshfiZERR IR L
t=10cmPA T |PRBURLN £ TRz ISR 182.7 183|m2
AsHLTEHR
SRR - T e R R B 6.7 7|m3
Cotlir
t=15cmPA T |PRBURLT £ T3 ARz ISR 24.0 24|m
Coffi iR L
t=10cmPA T |PRBURLN £ T3 mER=R ISR 0.7 1|m3
CoHlJH ik
SRR - TR R B 0.7 1|m3
£zl
BHO.13 SRR - T e R R B 62.6 63|m3
R (1)
BHO.13 SRR - o ERH R B 28.3 28|m3
MR (FARED)
BHO.13 SRR - T e R R B 3.5 4|m3
HE AT
BHO.13 SRR - T ERH R B 12.2 12|m3
FeE -
62.6 - 12.2/0.9 49.0 49|m3
Hih
62.6 - 12.2/0.9 49.0 49|m3
TR T
RC-40 t=20cm | BIHLI + T3 mEFHT ISR 59.7 60[m2
AT
M-25 t=12cm [3BIHLN = THmEFHF ISR 59.7 60[m2
27 —hHIFL T
PR (¢ 40) | 3BURET L TR ELERN R I S0 1.0 1| & T
AsEiE T.(R48 17)
R gL EAST3 =3om SR BIRT = T4 AAER R 1 2 59.7 60[m2
Collis TR R)
18-8-25BB t=10cm [ BN - T mEGHER 1 2K 0.7 1|m3
R I (A IH)
WRMAEL  RRIRT - T REH R 2R 123.0 123|m2
AsEiE T.(A18 17)
P EREAS20F =hom| S BIR T - THRAESHE I 2 M 119.4 119|m2
AsEiE T.(A18 17)
FEAE R EAS20 =dom | S BIRRT £ T4 AAER R 2 3.6 4|m2
AsHiL ALy 2
gLl 6.7%2.35 15.7 16t
CoBflisy 2
I 0.7%2.35 1.6 2|t
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AsHLEH - 6.6 - 0.1 6.7|m3
Collr t=15ecmLL - - 24.0 - 24.0[m
CoffiZERBUEL  |t=10cmLL T - - 0.7 - 0.7|m3
CoBlliE ik - - 0.7 - 0.7|m3
L]l BHO0.13 6.2 49.0 4.8 2.6 62.6|/m3
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A1
BH0.13 0.6%0.76%13.5 6.2 m3
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BHO0.13 0.6%0.36%13.5 2.9 m3
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t=15cmPL T [99.5%45% 398.0 m
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AsHEIEHE
A1 (0.6%99.5%0.03) +BE% (1.2%99.5%0.04) 6.6 m3
A1
BH0.13 0.6%0.82%99.5 49.0 m3
(1Y)
BHO0.13 0.6%0.36%99.5 21.5 m3
HRGEAT)
BHO0.13 0.6%0.15%99.5 9.0 m3
e
RC-40 t=20cm |0.6%99.5 59.7 m2
)
M-25 t=100(120)cm|0.6%99.5 59.7 m2
= 7Y —hHILT
¢ 40 N=1f87r |HEVRE Ak (¢ 40 N=1f&77) 1 T
At TURAE )
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ENEa
iR EL  |1.2499.5 119.4 m2
At TR )
FAEBREAS20F t=5em [ 1,2%99.5 119.4 m2
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+ T
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Cotl¥r
t=15cmPL T [12%25 24.0 m
CofliZERIuEL
t=10cmLLF  ]0.6%0.1%12 0.7 m3
ColfliE
0.6%0.1%12 0.7 m3
Ezll
BHO.13 0.6%0.66%12 4.8 m3
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BHO.13 0.6%0.36%12 2.6 m3
PR AEA)
BHO.13 0.6%0.3%12 2.2 m3
Cobfidk T(AREIR)
18-8-25BB t=10cm|0.6%0. 112 0.7 m3
Fa ks (ReHiAS)
¢ 20 T T4 L= 6.0 m
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+ T
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AsY]Wr
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AsHEIEHE
BER% (0.6%6%0.04) 0.1 m3
Ezll
BHO.13 0.6%0.72%6 2.6 m3
()
BHO.13 0.6%0.36%6 1.3 m3
PR AEA)
BHO.13 0.6%0.36%6 1.3 m3
NEE
RC-40 t=20cm |~ - m2
- FE R
M-25 t=100(120)cm|— - m2
As#lidt TURE IR)
PR A R % t=3cm |~ - m2
N e
TR L |0.6%6 3.6 m2
As#fidh TR IR)
FRAHLRLEEAS20 t=4cm|0.6%6 3.6 m2




